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1 A company currently has $6m of equity and $2m of debt. The ‘cost of equity’ is
12%. The company uses a discount rate of 10% for its investment appraisals,
which represents its weighted average cost of capital. The discount rate of 10%
represents the weighted average cost of capital.

What is the company’s percentage cost of debt?

A 8%.

B 6%.

Cc 4%.

D 2%.

2 The laptop repairing division of LPT Ltd. has overheads of £3,500 per week which
are charged to each job on a direct labour basis. A recent repair for a customer
used £20 worth of components and took two hours. LPT employs two full-time
technicians who are each paid £700 for 35 hours work per week. What is the full
cost of the repair?

A £60.

B £140.

Cc £160.

D £180.

-End of Paper-
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Answer Key

Question Answer
1 C
2 C
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